Answers

) Roman Numeral Number Words
LXX 70 seventy
X 9 nine
XI N eleven
XXXIV 34 thirty-four
There is no representation 0 2ero
for 2ero in Roman numerals.
2)
X = 10 LXXX = 80 e s O] e 7] e |0 |G
V=g XIII = )3 u |12 @ 1 |15 [ a6 | 27 | 18 | 19 | 20
C = 100 XLIV = 44 |22 |2 |20 |25 |26 |27 | 2 -
L= so LXXV = 75 a2 | an | s | s o T
IV = ¢ XXXVI = 3¢ a |z [ |(@) ws [ oo | || o
XCIX = q4 XXIX = 29 I I R T
XL = 4o XC = 90 oo les oo Ll ce lar les ool a0

3)
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1) a)

Number Roman Number of Number Roman Number of Number Roman Number of
Numeral | Sticks Used Numeral | Sticks Used Numeral | Sticks Used
1 I 1 12 Xn 4 sl L 3
2 II 2 13 X s s2 L 49
3 11 3 19 X\v s $3 L s
4 v 3 Is Xv 4 54 Lv s
s v 2 16 xvi s ss L 4
6 vi 3 19 XIX s s6 wi s
7 vii 4 20 XX 4 s9 LIX s
8 Vil s 2] XX s 60 LX 4
9 IX 3 40 XL 4 13 X! s
10 X 2 4l b (2] s
n Xl 3 s0 L 2
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Answers

b)

Accept any explanation where children worked systematically and any explanation where children explain their reasoning.

Here is an example answer:

If a number has three tens, | know that | will need too many sticks. This is because | need two sticks to make one X to show
ten — so | would need at least six sticks to make three tens.

1)

Incorrect Roman

Numeral

Explain the Mistake

Correct Roman

Numeral

247

The numerals show S, 10 and

7 instead of $7. 50 should be

represented with the letter L
in Roman numerals.

wi

LX

X! has been written instead
of IX. This means that 7! has
been written instead of 69.

LIX

LXIiv

IV has been written instead
of VI. This means that 64
has been written instead of
66.

Lxvi

2)

LXXXVI

The number 26 has been
written instead of 27.
Another | is missing from the
end of the number.

LXxxvi

3)

Magnus has used more than three of the same symbol in a row. 90 is calculated as 100 - 10 = 90 so is represented as
XC (ten less than 100). § is calculated as S - | = 4 and represented as IV (one less than five). The correct answer is

LVI

LIX

Lxvi Lxvii

LXxvi LXXVIII

LXXXVI

XCV.

LXXXIX

&)
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